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3. Fixed Moments
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Question number 1 is mandatory, answer any 2 full question from Q2 to Q4. RK B
S T
1 Determine the fixed end moments for the beam shown in Fig.1.a. Consider that El is constant through COo1L
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(a)

Analyse the continuous beam shown in Fig.2.a by slope deflection method and draw BMD, SFD and

EC.
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(a)

Analyse the continuous beam shown in Fig.3.a by slope deflection method and draw BMD, SFD and
EC.
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(@)

Analyse the rigid frame shown in Fig.4.a by slope deflection method and draw BMD and EC.
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